s

0 80° 160°
y=1/x

2500
N4
310
e
105000

— a __ b C %
A" sinB~sinC p 2
e

=0

sin off

CocTtaBuna Aspameu J1.H.
Yuyntenb MaTeMaTUKun
Ctpyrosckou OOLL,
NMpumopckuu Kpam,
OKTAGPbLCKUMN panoH

y=sin 90
x=25y + 45
= (2+
Y a-
{m 25 + 45 (y)< 22

x=70

=1

(2]

92




«Y Mamemamukos
cyuwiecmeyem - *

ceouU SsI3blIK - 3mm

pOpPMYyInbl». =

< Koeaneec:Kaﬂ
Copbs BacunbeeHa




[TlponsBegeHne YUCNOBLIX U
OYKBEHHbLIX MHOXUTENEN




ANKOBUHHbIE HA3BaHUS

EIONUHOM

MHoroqne,_,

OA4Hoi
nepeMeHHoﬁ

OpHOpPOOHbLIN
MHOTrouNeH




WMAMTE 3HAYEHUE BbIPAXEH
‘ & '?

(4a)’; (0,5y)% (1/2x)?*(10xy)?; H

(3/4c)%; 13 23

£ 5% (0,4y)°% (2/32)°. it

5x5=25
y=sin 90
x=25y + 45
=1
sin off {Y= 1 (x+y)
x= 25 + 45
x=70




HANON OLLUBKY: T

, (6-y)° =¢-26y+y’
| (e =49-14c+?

y=1/x

o ((p-10)*=p-20p+10

Y =CO
2x2=4
3x3=9
4x4 =16
5x5=25
6x6 =236
7x7 =49

2 8x8 44
(Za--l) —4a +2a+1 |
y=sin 90
a b x=25y + 45
B C b’ / S\(\ y=1 (,x_/‘y)(‘
f x= 25 + 45 *y) =< 22 2
w




IMo UHMepecHO

A 712 A

=(70+1)2=4900+140+1=5041 SN

(2]

0 80° 160°
y=1/x

2500
X42
L2100
* 84

71050 00

y=sin 90
x=25y + 45

a b C 1
&5 g 90 i (Xt
Y= =

. A sinB~snC

\o‘

%+c x= 25 + 45

=

x=70



\| 4

PaboTta B TeTpaasx.

1. Pa3noXxuTb Ha MHOXUTESIU:

a) 8a3-8aB’ 0) 4x*-8x+4 B) 9-a*-2aB-B?

2. BepHO nu paBeHCTBO (YCTHO)

a) (0,04-b)(0,04+b)=0,016-b?
B) 1+Xx+X*=(1+Xx)?

B) 25x3+40x%y?+16Yy*=(5x*+4y?)
r) (3-a)(3+a)=3-a?

3. 3anoNHUTb NPONYCKU
a)...-16aB+... = (...-1)?
0)...-4a’=(.....)(3B+...)

B) (5X+...)%=...+...+9

{y—sin 90
x=25y + 45
a b C

=A~sinB-sinC nga*{b gn90=2 {y:1 (

2+ ¢

X
X
X
X
X
X
X
)
L Ll

NOUL A WN
~<
|

==Y ()
A L.

AD WN = O D

coNOULTSA, WN
= D OO uUTO



(2]

, PaGota c yue6HMKOM

0 80° 160
y:l/X

2500
i i I
370
*g84

o N2934; Ne889 N2909

{y:sin 90

x=25y + 45

] a — b = . ¥ =1 y

A sinB sinC bote n 907 y=1 (x+y)(

SN % 2 x= 25 + 45 *y)~ 52

x=70




g -

..... {msin 90
S x=25y + 45
] , . a2 __ b _ ¢ o 1 Y
: S A7sinBTsnC 3% sn 90 {y= 1 (xty)p,
' X = Y =
: % C x= 25+ 45 %) x?. 4
0 0 160" x= 70



77,

y=1/Xx

2500
¥ 42
L 210
"84
105000

a

b _ ¢

= A

~sinB_sinC

=sin 90
X= 75y + 45

{ /’)(ifufxl
=25+ 45

N




y=1/x

2500

i i I
310

T8

105000

'
0 80° 160°

Ucnonb3ys popmynbi pa3sioxu Ha

MHO>Kumesnu
a?-b? =(a-b)(a+b)
«a’+2ab+b?=(a+b)?
a%-2ab+b?= (a-b)?
a3-b*=(a-b)(a?+ab+b?)
-a3+b3=(a+b)(a’+ab+b?)

a b C b

\ | NG ATSnBTsSnC 2P
c

- ; i
— C
— =

-l

1.25x%-16
2.27y>-m?
3.X%-10x+25
4.4+16X+16X>
5.125y3+64




. OcTancs

| PaBHOAYLLUHbI

s \ii.

M

a b C

—~A-sinB-sinC

. |

a x
C

s "/__.

[ToHpaBunoch
1 3acTaBuo

a—\'b
%; =t

3agymaTbCs

NMOHpPaBUIIoC

He

2%
SH
4 x
DX
6 x
7 X
8 x
9

oNOOUL A WN
i




N\

@

B./

(2}

> 4
UI
(9]

o
Ny
e

'
0 80° 160°

y=1/x

2500

i i I
310

T8

105000

nacunoo 3a

y=sin 90

a b c x=25y + 45
~A~SinB SinC ax N et
BAn T c S 3 yj(,‘t_y)Q
, 3 x= 25 + 45 %% e
g ,{ifl* ) x=70

op




